
Some useful formulas

Trig identities

cos2 θ =
1 + cos 2θ

2

sin2 θ =
1− cos 2θ

2

Trig subs

x = a sin θ x = a tan θ x = a sec θ
dx = a cos θ dθ dx = a sec2 θ dθ dx = a sec θ tan θ dθ√
a2 − x2 = a cos θ

√
a2 + x2 = a sec θ

√
x2 − a2 = a tan θ

θ √
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Some useful integrals Most of those on page 431 of the text you should know (especially
1–7). Here are some others ∫

sec2 x dx = tanx+ C∫
csc2 x dx = − cotx+ C∫
secx tanx dx = secx+ C∫
cscx cotx dx = − cscx+ C∫
tanx dx = ln | secx|+ C∫
cotx dx = ln | sinx|+ C∫

secx dx = ln | secx+ tanx|+ C∫
cscx dx = − ln | cscx+ cotx|+ C
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